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Sample answer: I think that we should adopt a universal basic income because there will not be enough jobs for
everyone and it will help to distribute wealth fairly. AI will cause many jobs to disappear and so not everybody will be
able to work, but if everybody has a guaranteed basic income then they can afford to live. If people don’t have to worry
about basic living costs, they can have opportunities to find other kinds of work opportunities such as starting a small
business or doing some kind of volunteer work that they really enjoy. Universal basic income means that people can have

more choices. That is why I think UBI is the best solution to the problem. (118 words)




